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Crplx ) yB = v /B +%")

Phosor — v(£)=Vn coslwt+¢) =2 V=1VUn 2 w lost !
= V| coslwtt4 V)
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_ |
Cvw=cliwa = V=5 1 L=jucy Ly logs by %)
2= }2+J'X R? Yesistonce X' reactonce = Ln(Z)
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. M’ —]ﬁ- —+ —LA' + vVi—Yz2
E. Feedbock oscillotor Vjwe R R
Vi-Va
A .
5 L g C
\/ T IWRC V1 ‘ [ v
—2' — L,’ W& C )":}3“))2& \/f. \V I
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Vims = [ms K 2% DL P= Pan is NOT Poms |
E. sinusoid i(£)= L cos (wt + ¢)
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P=0 (any)
Cileds v plp= — — —=- +p)=-3
V=0 éavg-)

Oeneral plt) = vlt) iGt) = Vimlm cos(wt +00) cos (wt+0;) CosX cosy = 3 Jroslx=y)tcos Lty
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= Ll'z Un Im Cos (@V’ @LJ [)“" Cos éZ[w‘ﬁ*Ql/)) J + él/m[m 5N [(91/'%) 9N [,Z(W'(:—rg./))

R > reactive power (borrow /return )

LVAR]

>P - aversge Fovuef
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Passive losds zfé—:%lﬂcﬁ:\ﬁ /6,0 - l_li_::f
Z=Rt )X, some X wl S
5 =L 2 = L2 Retjlms X Lons = 17
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